Mixed Operations with 3 Integers

Name: Score:

Solve the following mixed operation problems (don’t forget BODMAS)

(-20)+4x3= 17+ (-16) + 2 = (-20)x3+2=
5-(-18) = (-6) = 3+ (=16) + (—4) = 7+ (-9) + (=3) =
21 +(-12)+ 3 = (—12)+ 6x 4= 32+ (-18) + 3=
(-80) +5x 5= 86 - (-2) x (—14) = (-28)+4x2=
(—40) =2+ 14 = 6x(-2)+(-3) = (-22)+2x4=
21 +(-8)+2= 4-(9)+(-15)= |- (-4)+ (-2) =
43 - (-2) x 6 = (-23)-9x3= 14x (-3)+2=
(—-11)x8-6= (-30)+ 6-2= (-30) =2+ 15 =
(—14)x3-8 = 3+(=3)+ (-3) = 4-(-9)+(-3)=
20+ (-5)x 4= 10 x (—4) + 5 = 45+ (-5)+3 =
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Answers

Solve the following mixed operation problems (don’t forget BODMAS)

(20)+4x3=

S-(=18) = (=6)=

21+ (-12) + 3 =

(-80)+5x5=

(—40)+2+ 14 =

21+ (-8)+2=

43 - (-2)x 6=

(-11)x8-6=

(~14)x 3-8 =

20+ (-5)x4=

-15

17

-80

17

55

-94

-50

0

17+(-16)+2= 9

34(-16) = (4)= 7

(-12)+6x4= -8

86 - (-2) x (~14) = 58

6x(-2)+(3)= 4

4-(9)+(-15)= -2

(-23)-9x3= -50

(-30)+ 6-2= -7

3+(3)+(=3)= 4

10x (-4)+5= -8

(20)x3+2=

T+(-9)+(3)=

32+ (—18)+ 3 =

(28)+4x2=

(-22)+2x4=

L-(4) = (-2)=

14x(-3)+2=

(-30)+2+15=

4-(9)+(3)=

45+ (-5)+ 3 =

-30

10

26

14

40



